
���������	
��
������������������� !"#$$$�%�&�'(�

)*+,�	
�)������'(���	�-�./0�1�23452526�4�7-8/94:526��0�3;��<=>?@@@AB9526��CD�.�>�1;4EE5EE;�:526�3;��/5��2E5�2E��0�3;�/�F51�G�H�9B�DE�0DI�0�9�3;�E�:;��49��/�E562526��21I�ED9�E�9�4..4943DE�I4B�D3EG8�:2I�4/�<�:  !"JKK�L!M�+,�	
�)�����'(���	�-�./0�1�23452526�4�7-8/94:526��0�3;��<=>NOO�P=QAB9526��CD�.�>�1;4EE5EE;�:526�3;��/5��2E5�2E��0�3;�/�F51�G�H�9B�DE�0DI�0�9�3;�E�:;��49��/�E562526��21I�ED9�E�9�4..4943DE�I4B�D3EG�R8�:2I�4/�<�:  !"S$$$�����	
��T'(���	�-�./0�1�23452526�4�7-8/94:526��0�3;��<=>U@@@.�95E34I351�.D�.�1;4EE5EVE;�:526�3;��/5��2E5�2E��0�3;�/�F51�G�H�9B�DE�0DI�0�9�3;�E�:;��49��/�E562526��21I�ED9�E�9�4..4943DE�I4B�D3EG�R8�:2I�4/�<�:W1

1 (of 11 ) 2018



���� ��������	
�
��
������������
��������������� �!""�"#$%&'$()*+,-*-*.$,$/#0&1,2-*.$)'$+34$56789:$;6<=>1-*.4$%?@%$(3,==-=A=3)2-*.$+34$&-@4*=-)*=$)'$+34&4B-(4C$D41>$?=4'?E$')1$+3)=423)$,14$&4=-.*-*.$4*(E)=?14=)1$,%%,1,+?=$E,>)?+=C$F-&4/3,==-=$G$G0)2*E),&$5)2 ��
�HHI�����JK��L�MN�O������������ �!""�"#$%&'$()*+,-*-*.$,$/#0&1,2-*.$)'$+34$5678PPQ$;6<RS:@E$T>1-*.4$U?@%$(3,==-=A=3)2-*.$+34$&-@4*=-)*=$)'$+34&4B-(4C$D41>$?=4'?E$')1$+3)=423)$,14$&4=-.*-*.$4*(E)=?14=)1$,%%,1,+?=$E,>)?+=C$F-&4/3,==-=0)2*E),&$5)2 ��
JV�������W��MN�O������#$%&'$()*+,-*-*.$,$/#0&1,2-*.$)'$+34$567RX::T>1-*.4$U?@%$(3,==-=A=3)2-*.$+34$&-@4*=-)*=$)'$+34&4B-(4C$D41>$?=4'?E$')1$+3)=423)$,14$&4=-.*-*.$4*(E)=?14=)1$,%%,1,+?=$E,>)?+=C$F-&4/3,==-=0)2*E),&$5)2��
JY�����H��MN�O������Z3-=$-=$+34$567R[::$7$(3,==-==3)2-*.$+34$&-@4*=-)*=$)'$+34&4B-(4C$D41>$?=4'?E$')1$+3)=423)$,14$&4=-.*-*.$4*(E)=?14=)1$,%%,1,+?=$E,>)?+=C0)2*E),&$5)2 ��
J������O�L���MN�O������#$%&'$()*+,-*-*.$,$/#0&1,2-*.$)'$+34$567R:::T>1-*.4$U?@%$(3,==-=A=3)2-*.$+34$&-@4*=-)*=$)'$+34&4B-(4C$D41>$?=4'?E$')1$+3)=423)$,14$&4=-.*-*.$4*(E)=?14=)1$,%%,1,+?=$E,>)?+=C$F-&4/3,==-=0)2*E),&$5)22

2 (of 11 ) 2018



New Era Pump Systems, Inc.
www.SyringePump.com

631-249-1392
info@syringepump.com

Title

Part No.
Model   NE-9000Date 12/2/10 Pump Overall Dimensions

PERISTALTIC PUMP

5.73

5.10

6.92

7.75

KEYPAD

RS-232
TTL-I/O

POWER JACK

POWER SWITCH

OPTIONAL USB CONNECTOR NOT SHOWN

PERISTALTIC PUMP HEAD

3

3 (of 11 ) 2018



New Era Pump Systems, Inc.
www.SyringePump.com

631-249-1392
info@syringepump.com

Title

Part No.
Model   NE-4000Date 3/9/09 Pump Overall Dimensions

Dual Syringe Pump

3/16 MAX PLUNGER 
THICKNESS

8.75

4-3/4 MAX TRAVEL
4-15/32 WITH COLLAR

5.60

3.16

4.41

4.79

5.74

7.49

1.88

RS-232

TTL-I/O

POWER JACK

POWER SWITCH

KEYPAD / MAIN PCB ASSEMBLY

5.00 5.25

8.44

4

4 (of 11 ) 2018



10.375

2.915

1.000

10.375

12.875

15.180

2.915

9.938

1.500

12.500 .75

4.753

13.188
15.180

FEET MOUNT INTO #6-32 THREADED HOLES - 4 PLACES

4.728

New Era Pump Systems, Inc.
www.SyringePump.com

631-249-1392
info@syringepump.com

Title

Part No.
Model   NE-1800Date 4/3/08 Pump Overall Dimensions

Eight Syringe Pump max 10ml Syringes

Rev. B

1.56

5.25 MAX TRAVEL WITHOUT COLLAR
4.97 WITH COLLAR

.31 MAX PLUNGER THICKNESS

7/21/08

1.562
1.438

1.313
1.375

1.562
1.438

1.313
1.375

12.875

SYRINGE LOCATION DIMENSIONS

5

5 (of 11 ) 2018



10.375

2.915

1.000

10.375

12.875

15.180

2.915

9.938

1.500

12.500
.75

1.56

4.753

13.188
15.180

FEET MOUNT INTO #6-32 THREADED HOLES - 4 PLACES

4.728

New Era Pump Systems, Inc.
www.SyringePump.com

631-249-1392
info@syringepump.com

Title

Part No.
Model   NE-1600Date 4/2/08 Pump Overall Dimensions

Six Syringe Pump max 140ml Syringes

5.25 MAX TRAVEL WITHOUT COLLAR
4.97 WITH COLLAR .31 MAX PLUNGER THICKNESS

Rev. B

12.875

1.3752.0312.031 1.375 2.031 2.031

SYRINGE LOCATION DIMENSIONS

7/21/08

6

6 (of 11 ) 2018



FRONT ISO VIEW

LEFT SIDE VIEW

FRONT VIEW

TOP VIEW

COVER
#100-31

FEET (4)
#950-003

CHASSIS
#100-30

KEYPAD / MAIN PCB ASSEMBLY
#100-07

POWER SWITCH
#920-001

POWER INPUT JACK
#925-003

8.75

.29

2.88

5.74

4.12

4.53

8.31

3.253.00

New Era Pump Systems, Inc.
www.SyringePump.com

631-249-1392
info@syringepump.com

Title

Part No.
Model   NE-1000Date 5/8/08 Pump Overall Dimensions

Single Syringe Pump

Rev. A

4.47

4.74 MAX TRAVEL W/OUT COLLAR
4.46 WITH COLLAR

.187 MAX PLUNGER THICKNESS

7

7 (of 11 ) 2018



LT. SECTION ISO VIEW
RT. SECTION ISO VIEW

SECTION `A-A'

AA

9.000 OPTIONAL MOUNTING HOLES
#6-32

3.000
OPTIONAL MOUNTING

HOLES #6-32

4.62

9.50

3.970

2.88

#6-32 THREADED
HOLE (4)

New Era Pump Systems, Inc.
www.SyringePump.com

631-249-1392
info@syringepump.com

Title

Part No.
Model   NE-570Date 4/7/08 Pump Overall Dimensions

OEM HI-Speed Syringe Pump

4.31

Rev.
1/15/11
C

4.70 MAX TRAVEL WITHOUT COLLAR

4.42 WITH COLLAR

WIDE CHASSIS

8

8 (of 11 ) 2018



1.75

3.000

9.000

9.50

8.31

3.86

CUTOUT IN CUSTOMER CHASSIS
8-1/2 X 3-11/16

OPTIONAL
STOP CLAMP
#945-001

OPTIONAL STALL ENCODER
#927-002POWER INPUT

I/O CONNECTOR

RS-232

A

A

SECTION ̀ A-A'

4.12

2.38

.305 REF.

4.00

New Era Pump Systems, Inc.
www.SyringePump.com

631-249-1392
info@syringepump.com

Title

Part No.
Model   NE-5xxDate 5/7/08 Pump Overall Dimensions

OEM Syringe Pump

SECTION 'A-A' ISO VIEW

CUSTOMER CHASSIS

#6-32 MOUNTING SCREWS

Rev. A

4.74 MAX TRAVEL W/OUT COLLAR
4.46 WITH COLLAR

.187 MAX. PLUNGER THICKNESS

9

9 (of 11 ) 2018



ISO VIEW

OPTIONAL
STOP CLAMP

OPTIONAL STALL ENCODER

A

A
SECTION `A-A'PCB COMPONENTS

MOUNT ON THIS SIDE

CUSTOMERS CHASSIS

2.38

.31 REF.

New Era Pump Systems, Inc.
www.SyringePump.com

631-249-1392
info@syringepump.com

Title

Part No.
Model   NE-5xxDate 4/8/08 Pump Overall Dimensions

OEM 140ml Syringe Pump

10.38

4.31

4.12

Rev. C

5.61 MAX TRAVEL W/OUT COLLAR
5.33 WITH COLLAR

.187 MAX PLUNGER THICKNESS

1/13/11

10.375

10

10 (of 11 ) 2018



���������	�
�����
	��
������������ � �����
������
	��������
� 
��� 
��!��
����
	�	���������"�#$�%��"���&'�	��&� 
�� 	�(����������
�)��
�*
�& ���	�������&'�	��&� 
�� 	� '$�� 	����&+	����	��
+��,��-���	��
��	 
�� 	�&	�����&'�	.���"��,� 
���/�&��  
�����������.������
�� 	�&	�����&)��
��������/�������& 
���-	�0��&� 
���!��
�
�1�������,'����2������� ��0����+��,3�
	�!��$���4-'�.���������,���������
���&��$���		����
������56�+�
� �	�����������1���	����.�7�.�	�������56�/�������8��4����

�����4���	
��������	&������
��	�$���������	�������������9�����	�&$��:;6<�'�	��&� 
�� 	��=�)

�1�&$���1���	.�,�=���	�����"���=� 	�.���� �
��� > ? @11

11 (of 11 ) 2018


	NewEra Pump Drawings
	NE-9000
	NE-4000
	NE-1800
	NE-1600
	NE-1000
	NE-570
	NE-5xx



